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1 d W 5 — © frrlLicC 71 35 36 71
2 H ¢ B & ©| CRC=ZEAHIU 74 36 38 74
3 B F £ mH ©| MGRA UP-DO 75 38 37 75
4 ¥ # F B © & da)llCC 75 37 38 75
5 Ik X B & ©| Ywnvhivyhce 75 36 39 75
6 Bk B £ ©| CRC=ZFE71z94A 75 36 39 75
7 B A R A © BRCC 76 40 36 76
8 1T N 2 © PmETCC 77 40 37 77
9 R A FH & © $5EECC 78 40 38 78
10 B 2 = 17 © HhEGC 78 40 38 78
11 2 H M X ©| #—kILI—RGC 78 38 40 78
12 INETER 7% BA © O—E>KCC 79 42 37 79
13 FE B B — ©| MGRA UP-DO 79 41 38 79
14 Z# Il = M ©| #&RFHYCC 80 41 39 80
15 T A ©| YenNvhvvhce 80 41 39 80
16 E F & % ©| CRC=E@{W 80 41 39 80
17 NIl =3 © FEEATTIGC 80 40 40 80
18 g 4t # & ©| #—kILI—RAGC 81 42 39 81
19 A B X I © {BFEACC 81 41 40 81
20 x % # 2 © 4742 XGC 81 39 42 81
21 B ' & X ©| CRCHAWY LyY 81 39 42 81
22 F £ 5 & ©| CRCEAWY1LyY 81 39 42 81
23 X R 8 A YRV 7999CC 81 36 45 81
24 OB B B A—KJLIT—RGC 82 42 40 82
25 INOFR 2 E#~[RCC 82 42 40 82
26 5 B F 4742 XGC 82 41 41 82
27  H M & EGCIREKE 83 43 40 83
28 B2 B # hHCC 83 43 40 83
29 p O | - fRFH>CC 83 42 41 83
30 | £ # E # CRCHEWY 1Lyy 83 40 43 83
31 7 B B CRC=EHLL 83 39 44 83
32 E % = — CRCHELWY 1LYy 83 39 44 83
33 = G B2GC 83 38 45 83
34 F N kEaE AR AR777GC 84 45 39 84
35 Al Fr wHEE CRC=ZEHAHLU 84 44 40 84
36 A H # $5EECC 84 43 41 84
37 ® B B CRCHLUT 1LY 84 43 41 84
38 = F 17 E~JRCC 84 42 42 84
39 fth E E CRCHLUT 1LY 84 41 43 84
40 H i & *E CRCHELWY 1LYy 85 46 39 85
41 B 23 CRCHLUT 1LyY 85 44 41 85
42 BN OB 8 EGCRB2KE 85 43 42 85
43 F OB W A MGRA UP-DO 85 43 42 85
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44 5§ % FE E 5442 XGC 85 42 43 85
45 m R B E CRCHLWY 1LyY’ 85 41 44 85
46 A M g & —EGC 85 40 45 85
47 Z [ iz MGRA UP-DO 86 42 44 86
48 h JIl $F & —EGC 86 41 45 86
49 o5 % Fh)IICC 86 41 45 86
50 2 2 FE 2 CRC=E71299A 87 46 41 87
51 R E R —EGC 87 45 42 87
52 ‘A B 1§ # FECC 87 42 45 87
53 a5 I g % CRCHLUT 1LY 87 41 46 87
54 F B % 2 Z#ECC 88 49 39 88
55 X H T B #WRFH>CC 88 46 42 88
56 m Bk B X A—E>KCC 88 44 44 88
57 X H B 7 O—E>KCC 88 43 45 88
58 = A 2 RFH>CC 88 43 45 88
59 g H B 2 W EGC 89 46 43 89
60 n 2 g = FAEATIIGC 89 44 45 89
61 = ® F — WhERGC 89 42 47 89
62 F g O X hHCC 90 50 40 90
63 AR SR 4 CRCHELWY 1LYy 90 43 47 90
64 & A B 2z WHERGC 90 41 49 90
65 # H =3 FAEATTIGC 95 51 44 95
66 Z# B 8 17 FEEATTIGC 95 49 46 95
67 H f &% & 2 RFH>CC 96 47 49 96
- B K R & FRCC R 35

- & O F 7 #7IEGC Ri5

- Ik A F B {REACC Ri5

- # H EJ) ZMGC Ri5

- H # K & TJH#LRAREEGC Ri5

- B OJR E—B E+~[RCC Ri5
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